
COLOUR CODE 

 

 

 

 

 

 

 

 

 

 

 

9000, variation A 

 

BLACK      X anode___ ||| ________ P GREY 

         )|||( 

         )|||(  

ORANGE x 2 Y____HT___)|||(___   

         )||| ___|  

         )|||(  

YELLOW     Z_anode___)|||(       

          |||(___       

          ||| ___|-Q  GREEN     

WHITE      U_cathode_ |||(       

        )|||(       

         )|||(_________S BROWN  

VIOLET x 2 V____CT___)||| _________R RED    

               )|||( 

         )|||(  

RED/WHITE  W_cathode_)|||(_________T BLUE  

    ||| 

  



COLOUR CODE 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

    9000, variation B 

 

YELLOW  anode 1______ ||| _______ 

   )|||( 1     RED 

   )|||(_______ BLUE 

                     )||| _______ 

          )|||( 2     RED 

       __)|||(_______ BLUE 

ORANGE x 2---+HT--|__ ||| _______ 

            )|||( 3      RED 

        )|||(_______ BLUE 

                     )||| _______ 

      )|||( 4     RED 

BLACK    anode 2_____)|||(_______ BLUE 

       ||| 

______________ ||| 

VIOLET     )||| 

WHITE _______________)||| 

          feedback_______________ ||| 

RED/YELLOW           )||| 

VIOLET_______________)||| 

    ||| 

 

  

                          OUTPUT WINDINGS. 
  
 
 
There are FOUR EQUAL SECONDARY WINDINGS which can be arranged for  
loads of 1, 4, 8/9 or 15/16 ohms thus:- 
 

          1 ohm  |    4 ohm      |   8/9 ohm   |  15/16 ohm 

           RED   |     RED       |    RED      |   RED      

 _ _ _ _______   |   _ _______   |  _ ________ |   _______ 

(1(2(3(4         |  (1(2         | (1(2        |  (1 

(_(_(_(_______   |  (_(          | (_(         |  ( 

           BLUE  |  (3(4         |   (3        |  (2 

                 |  (_(_______   |   (         |  ( 

                       BLUE      |   (4        |  (3 

                                     (_______  |  ( 

                                      BLUE     |  (4 

                                                  (_______ 

                     BLUE 

  



COLOUR CODE 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

                                  9000, variation C 

 
YELLOW  anode 1______ |||              

          )|||       

           )|||  

                     )|||             

          )|||                   

    __)||| 

  ORANGE x 2---+HT--|__ ||| _______     

            )|||(      RED     

           )|||( 

                     )|||(          6 ohm    

                )|||( 

BLACK    anode 2_____)|||(_______ BLUE      

             |||  

       ______________ |||       

VIOLET               )|||  

WHITE _______________)|||  

Feedback           ______________ |||  

RED/YELLOW           )|||  

VIOLET_______________)|||      

    ||| 


